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1. Answer the following questions : 2x4=8
(a) What do you mean by farming system ? |
(b) What is mixed croppiﬁg ? '

(c) What is land-lease market ?

(d) What is crop rotation ?
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2 Answer,thé_foi.ldwihg'_quesﬁoﬂs' . 5x4=20

" (@) Mention ‘some cha;'acteﬁstics of primary
. sector.”. ' . - '

() State the fa(;tors that determine the location

. of ‘é'rops.~ o B o
| (c) What are the factors that affect the demand
. for farm product ? B

(@) What is Minimum Support Price (MSP) ? .

* How MSP is determined in India ? 2+3=5
3. ‘Attempt any wo of the following questions :
(@ Explain the nexus between farm size and
| agricultural produciﬁvi;y in India.
(b). What is marketed and marketable supply ?
Explain the relationship between the two-
| : S 5+5=10

(6)  What is mobility of Iabour ? What are the

. different types of mobility of labour ? Explait

the factors"that de_te;xpine the mobility of

- labour. - 2+3+5=10
- (d)' Explain the important features of .égriculmml

Pri;:e policy followed by Govt. of India since
- ing

is important in India 9 G et
91/6312 (SEM4) ECO4446 (3

lependence. Why agricultural price policy

4, Answér the following questions : . 16x2=32 .

(8 () What is peasant farming ? Discuss the
Chayanovian farm hp'usehold model. -

2+14=16.
. - Or . o
(ii) Critically explain the Cobweb
agricultural market model. 16
® (@) Critically explain Mellor’s theory of
~ agricultural development. "16-
. Or

(i) Distinguish between Microcredit and .

. Microfinance. Explain how Microcredit

and Microfinance help in the
development of rural economy.

- 6+10=16
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. The figures in the margin indicate full marks
: for the questlons

Answer the followmg questions T 2'x4=8
‘(@ Under what condition d

i 0 we use HS.
(b) What do

vanable ?
(d) What is autocorrelation '

- AnsWer the following questions : 5><4—20

(a) Differentiate single equatnon model from
simultaneous equation model

(b) Explam simulation process.
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you mean by bmary dependent

(c) Prove that autooorrelation' is a. meas'ure‘:of =
simple correlation coefficient.

@ show that AR(1) model is stationary.

Answer any two of the following questlons o
o lOXZ'“ZO

(a) Show under what conditions Koyck’s
distributed lag model can provide a solution
to the problem of multi-collinearity. |

(b)  Derive the 3 SLS estimators of the coefficient "

of the equation of SEM.

(c) Find out the effects of Heteroscedasuclty on -

OLS estimators.

d Explam Granger causality test.

A.nswer' the following questions : 16x2=32
(a) (i) Giventhe demand and supply function :
Q= A, + AzP +AX, + Ult
Qu =B+ B,P; + U2t

X is income. The quantity demanded is
a function of price as well as income of
the consumer. Examine which of the
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| eqﬁaﬁon is identified ‘.?.Whivch .tAnethod‘
~ will be appropriate to estimate the
. coefficient of the above equation ?

(ii)

® O

Estimate the coefficient by the

appropriate method. -~ 4+2+10=16
Or
Explain the features of LPM and Logit

model. How are the disadvantages of
LPM overcome in Logistic model ?
8+8=16

Illustrate the impact of autocorrelation

~ on OLS estimators.

(ii)

@

(i)

Prove that ARMA model is stationary.
o ’ 8+8=16
Or

Briefly explain a spurious. regression
with the help of a non-stationary series.

Elaborate the 2-step verification process

of error correction model as postulated

- by Engel and Granger, 6+10=16
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